
1. (a) The gap between the parents and children is caused
firstly, due to the difference in the ways of thinking, which
leads to misunderstanding. Secondly, due to the way
parents react to a particular situation and immaturity on
the part of children to understand various situations.
Parents don't empathize with changing values.

2. (c) There is generation gap due to age gap and the way
the parents react to a particular situation.

3. (a) Parents often do not talk openly to their children.
They usually dictate without understanding the problems
faced by their children.

4. (b) Children spend most of their time with digital devices
and there is no communication with parents.

5. (a) Parents should show interest in all the matters of
their children, should have open communication, should
allow children to put forth their views and should show
positivity.

6. (a) The word 'particular' means 'specific'
Particular: used to single out an individual member of a
specified group or class: specific, certain

7. (c) The word 'isolated' means 'separated'
Isolated: far away from other places, buildings, or people;
remote. Secluded, separated.

8. (c) The antonym of the word 'problems' is 'solutions'
9. (b) the antonym of the word 'reduce' is 'expand'
10. (b) quality

Most of the parents don't spend quality time with their
family.

11. (d) Snake
On seeing the snake the thieves ran for their life from the
bania's house.

12. (b) collection funds
Gandhiji went to Orissa for collection funds.

13. (a) Jamnalal Bajaj
Jamnalal Bajaj was in charge of the Charkha Sangh Funds.

1 (a) 7 (c) 13 (a) 19 (b) 25 (d) 31 (d) 37 (b) 43 (c) 49 (a) 55 (d)
2 (c) 8 (c) 14 (c) 20 (a) 26 (a) 32 (a) 38 (b) 44 (b) 50 (a) 56 (c)
3 (a) 9 (b) 15 (d) 21 (c) 27 (c) 33 (a) 39 (a) 45 (a) 51 (b) 57 (b)
4 (b) 10 (b) 16 (d) 22 (d) 28 (c) 34 (c) 40 (b) 46 (c) 52  (a) 58 (c)
5 (a) 11 (d) 17 * 23 (d) 29 (b) 35 (c) 41 (a) 47 (b) 53 (b) 59 (c)
6 (a) 12 (b) 18 (b) 24 (b) 30 (a) 36 (d) 42 (c) 48 (a) 54 (b) 60 (a)
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14. (c) a pearl necklace
The kite dropped a pearl necklace.

15. (d) read the lines, 'One day a bania found a snake in his
house. He could not find anyone to kill it for him and had
not the courage to kill it himself. Besides, he hated killing
any living creature." Hence, option (D) is the right answer
choice.

16. (d) The thieves thought the Bania had hidden
something valuable under a pot. But there was snake
hidden under the pot. Read the line, 'So, he covered the
snake with a pot and let it there.' Hence, option (c) is the
right answer choice.

17. The volunteers tried to stop the poor woman from going
to Gandhiji.

18. (b) False
19. (b) Has been studying (present perfect continuous

tense) rule: has/have + been + study(verb) + Ing
She has been studying since morning today.

20. (a) Was playing (was/ were + verb + Ing) past
continuous tense
He was playing all day with his cousin.

21. (c) Were (helping verb)
They were  not in the swimming pool.

22. (d) Ought to (modals that show obligation towards a task)
We ought to follow traffic rules.

23. (d) Has (has/ have / had helping verbs)
There has to be a way out of this problem.

24. (b) Go (verb 1st form)
Let's go out and play in the garden.

25. (d) The relevant aspects that Dev should select for this
letter are 1,3 and 4 i.e. the newspaper's name, Dev's address
and formal tone.

26. (a) The appropriate subject for this letter is Drawing
attention towards disaster management as necessity .
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27. (c) Yes, to option 2 because of the tone of polite
expectation.

28. (c) Inform authorities about the issue of disaster
management as the topic of the hour.

29. (b) Yours sincerely is written in the end after concluding
paragraph.

30. (a) Respected sir is written as salutation to the editor.
31. (d) The mother of the young seagull was looking at him.
32. (a) His brothers were dozing with their heads sunk into

their necks.
33. (a) His condition was troubled due to keen hunger.
34. (c) He loved to tear the food and scrape his beak now

and then to wet it.
35. (c) the young seagull had three seagull.
36. (d) The young seagull cried for food.
37. (b) No, the mother did not pay attention to his request.
38. (b) When he saw her mother coming towards him with a

piece of fish, he uttered a joyful scream.
39. (a) The mother wanted him to fly. She tempted him to

dive for the food and fly.
40. (b) The meaning of 'maddened by hunger' is very hungry.
41. (a) He is locked in a concrete cell behind the bars.
42. (c) He is striding in his concrete cell.

43. (c) He ignores the visitors.
44. (b) "Stalk" means the same as 'to walk stiffly' in the

stanza. .
45. (a) the antonym of 'ignoring' is 'attention'.
46. (c) 'He' in the stanza stands for the tiger.
47. (b) He moves around the houses in search of his prey.
48. (a) He should be terrorising the village people with

baring of his white fangs and with his claws.
49. (a) the noun form of 'terrorise' is Terror.
50. (a) the suitable title to the poem is 'a tiger in the zoo'
51. (b) Fire and ice are symbols-not of natural disasters, but

of humanity's ability to create disasters of its own.
52. (a) In the lines, To say that for destruction ice/Is also

great' sarcastic tone is used.
53. (b) 'Paper has more patience than people', this implies

that Anne felt that she could pour her heart out on paper
without any hindrance.

54. (b) The 'most courteous manner' here means that Peggy
was teaching Wanda.

55. (d) Peggy gave her friend a nudge because she was
teasing Wanda and didn't want anyone her miss the 'fun'.

56. (c) By the word 'pathetic', it implies that the narrator
pitied tricki's condition.

57. (b) Griffin finally escaped by taking of all his clothes.
58. (c) He went next to the theatre store.
59. (c) It was a bad time to wander in London because it was

mid-winter and he was without clothes.
60. (a) Glass

Griffin's body became as transparent as glass.


